Aritmetika – výsledky
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	33,07
	623,30
	96,88
	54,30
	378,27
	65,00

	9,09
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	22,10
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	178,38
	75,38

	90,83
	939,72
	412,82
	272,06
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	323,28



K 51 / cv. 6

	270,11
	67,24
	168,04
	652,34
	94,71
	245,12
	395,50
	174,23

	-176,35
	-25,87
	-59,46
	-468,67
	-69,83
	-76,90
	-186,56
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	93,76
	41,37
	108,58
	183,67
	24,88
	168,22
	209,94
	135,76



K 51 / cv. 8
	3 – 0,2 = 2,8
	8 – 1,4 = 6,6
	1 – 0,02 = 0,98
	6 – 1,04 = 4,96

	7 – 0,6 = 6,4
	10,25 – 2,5 = 7,5
	4 – 0,15 = 3,85
	5 – 2,25 = 2,75



K 49 / cv. 12 SÚ

x = 244 123 + (244 123 : 11)                                             244 123 : 11 = výpočet
x = 244 123 + 22 193
x = 266 316 t

Roční sklizeň hrušek činila 22 193 t a celkem se sklidilo 266 316 t ovoce.

K 49 / cv. 13

	6 884 : 28 = 245 (zb. 24)
	64 681 : 61 = 1 060 (zb. 21)
	16 278 : 68 =
239 (zb. 26)
	98 752 : 59 =
1 673 (zb. 45)
	328 864 : 54 = 6 090 (4)

	9 420 : 37 = 254 (zb. 22)
	28 716 : 89 = 322 (zb. 58)
	34 600 : 12 = 2 883 (zb. 4)
	264 337 : 61 = 4 333 (24)
	228 556 : 17 = 13 444 (8)


 
